
(Pr.No.2625－Ａ)

因数分解 練習問題５

公式１・公式２・公式３

Ⅰ．次の式を因数分解しなさい。

① x ２＋１２ x＋３６ ＝（x＋６)２

② x ２＋１０ x＋２５ ＝（x＋５)２

③ x ２－２０ x＋１００ ＝（x－１０)２

④ x ２－８ x＋１６ ＝（xー４)２

⑤ １－２ x＋ x ２ ＝ x ２－２ x＋１
＝（x－１)２

⑥ x ２－８ x＋７ ＝（x－７)(x－１)
⑦ x ２＋１４ x＋４９ ＝（x＋７)２

⑧ x ２－１２ x＋３６ ＝（x－６)２

⑨ a ２＋４ a－１２ ＝（a＋６)(a－２)
⑩ y ２－５ y－２４ ＝（y－８)(y＋３)

Ⅱ．次の式を因数分解しなさい。

① x ２＋５ x－３６ ＝（x＋９)(x－４)
② x ２＋１０ x＋１６ ＝（x＋２)(x＋８)
③ x ２＋９ x－３６ ＝（x－３)(x＋１２)
④ x ２＋３０ x＋８１ ＝（x＋３)(x＋２７)
⑤ a ２＋１４ a＋２４ ＝（a＋２)(a＋１２)
⑥ x ２＋６ x－１６ ＝（x＋８)(x－２)
⑦ x ２＋９ x＋８ ＝（x＋１)(x＋８)
⑧ x ２－９ x＋８ ＝（x－１)(x－８)
⑨ x ２＋６ x＋８ ＝（x＋２)(x＋４)
⑩ x ２－６ x＋８ ＝（x－２)(x－４)

Ⅲ．次の式を因数分解しなさい。

① x ２－７ x－８ ＝（x＋１)(x－８)
② x ２＋７ x－８ ＝（x－１)(x＋８)
③ x ２＋２ x－８ ＝（x＋４)(x－２)
④ x ２－２ x－８ ＝（x－４)(x＋２)
⑤ x ２＋１３ x－４８ ＝（x－３)(x＋１６)
⑥ x ２＋７ x＋１０ ＝（x＋２)(x＋５)
⑦ x ２＋１０ x＋２４ ＝（x＋４)(x＋６)
⑧ x ２＋３ x＋２ ＝（x＋１)(x＋２)
⑨ x ２＋４ x－２１ ＝（x－３)(x＋７)
⑩ x ２＋４ x－１２ ＝（x＋６)(x－２)

(Pr.No.2626－A)

因数分解 練習問題６

公式４による因数分解

Ⅰ．次の式を因数分解しなさい。

① x ２－１６ ＝（x＋４)(xー４）
② x ２－９ ＝（x＋３)(xー３）
③ b ２－２５ ＝（b＋５)(bー５）
④ x ２－３６ ＝（x＋６)(xー６）
⑤ y ２－４９ ＝（y＋７)(yー７）
⑥ x ２－１００ ＝（x＋１０)(xー１０）
⑦ x ２－１ ＝（x＋１)(xー１）
⑧ a ２－４ ＝（a＋２)(aー２）
⑨ ４ x ２－２５ ＝（２ x＋５)(２ xー５）
⑩ ９ x ２－１２１ ＝（３ x＋１１)(３ xー１１)

⑪ ６４ x ２－２５ y ２ ＝(８ x＋５ y)(８ xー5y)
⑫ a ２－ b ２ ＝（a＋ b )(aー b ）
⑬ ４９ x ２－３６ y ２ ＝(７ x ＋６ y)(７ x ー６ y)
⑭ y ２ y y

x ２－ ＝（x＋ )(xー ）
９ ３ ３

⑮ a ２ b ２ a b a b
－ ＝( ＋ )( ー )

１６ ４９ ４ ７ ４ ７

公式１～３の復習

Ⅱ．次の式を因数分解しなさい。

① x ２－４ x－２１ ＝（x＋３)(x－７)
② x ２－３ x－２８ ＝（x＋４)(x－７)
③ x ２＋７ x＋１０ ＝（x＋２)(x＋５)
④ a ２＋３０ a＋８１ ＝(a＋３)(a＋27)
⑤ y ２＋ y－２０ ＝（y＋５)(x－４)
⑥ x ２＋２ x＋１ ＝（x＋１)(x＋１)

＝（x＋１)２

⑦ x ２＋１０ x＋２４ ＝（x＋４)(x＋６)
⑧ x ２－３ x－１８ ＝（x＋３)(x－６)
⑨ x ２－１７ x＋７２ ＝（x－８)(x－９)
⑩ a ２－２８ a＋１３２ ＝（aー６)(a－22)
⑪ x ２＋ x－６ ＝（x＋３)(x－２)
⑫ x ２－ x－６ ＝（x－３)(x＋２)
⑬ x ２＋１８ x＋８１ ＝（x＋９)(x＋９)

＝（x＋９)２

⑭ x ２－１８ x＋８１ ＝（xー９)２

⑮ － x ２＋４ x＋１２
＝－（x ２ー４ xー１２） ＝ー(x＋２)(x－６)


